6" Splice Plates

MT-PL-S-06-12-045

[

MT-PL-S-06-18-000 [ O

MT-PL-5-06-18-360 " )

B o
cgne oge [DID YOU KNOW? ] | ;
/- h ModTruss can make a custom % 2 : \)’g.;
- ¥ - -4 spllce.or angle. This is more cost | );75
effective than a custom built truss. ) Vs ) - L ‘

MT-PL-5-06-12-000

e s

© MT-PL-5-06-12-090

TR

EX

Standard Material | A36 Low Carbon Steel

Standard Finish | 10 - Zinc Clear
Available Finish(es) | 10-12, 20-33

Hole Size | 11/16" (17.46mm)
Recommended 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8"” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
Hardware (M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)
Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com

Part # Size Weight
Description

MT-PL-S-06-18-360 17.50" x 17.50" x 0.25” 7.35lbs (3.33kg)
6" 4-Way Splice Plate (444.50mm x 444.50mm x 6.35mm)

MT-PL-S-06-12-000 5.50" x 11.50" x 0.25" 2.80Ibs (1.27kg)
6" x 12" Splice Plate (139.70mm x 292.10mm x 6.35mm)

MT-PL-S-06-18-000 5.50" x 17.50" x 0.25" 4.35lbs (1.97kg)
6" x 18" Splice Plate (139.70mm x 444.50mm x 6.35mm)

MT-PL-S-06-12-090
6" x 12" x 90° Splice Plate

5.50" x 11.50" x 0.25"
(139.70mm x 292.10mm x 6.35mm)

4.351bs (1.97kg)

MT-PL-S-06-12-045
6" x 12" x 45° Splice Plate

5.50" x 11.50" x 0.38"
(139.70mm x 292.10mm x 9.65mm)

5.35lbs (2.42kg)

& D © O

In Stock Customizable Reusable Compatible* Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending
55

PA

HG

MR

AC

HW

TK

MH

FH

GL



IANOISIAY 7

W NI 33V SNOISNIWIQ [] 133D vae
[65°1] 90°F - GIW :13ATTNOISIDINd

Product Number | MT-PL-S-06-XX-XXX

Series | PL Plates

TR

XXXXX-90-S-1d-IW NN v loe'9] [ov£1] ON om - Tm. _Q
31¥1d 301dS .9 s\ 9 J e ﬁ s
6102/6/8 } "~ @@ [oz6¢1]
»ssnagpoyy RiClS O
mm 9 seie | L f
] szl
000-8L-90-S-1d-1W -l
669
[s69] [97°21] [0z°9/] _ [scig)
69°D 00€ * Al
¥ X 1 [oree] £
§¥0-Z1-90-S-1d-1W o0] * -
o - T om gl
STy Z
[5e9] s
. l9v°21 000-C1-90-S-1d-IW _ ]
mS_ / ﬁoo_m,.mw ’ )% mw.% [0z'9.] =
00 : <
[oreést] | &R 2 : | mm.w 2
056 Jound o 5
* ) lorz51 278 fovzsi] =
lorzst] : 009 JOO 07 f B
009 7 ﬁmwm.__m ; M @ FR TR [ozest] 05wy
0z9] 56 o6 Oob| 85 05/l
5e'9) 00'¢ f o0 f
sz .
[oL6el] L p— NG
i Szl
LEKE#
(. Fm.& 08'S
s¢ [0S 7]
060-C1-90-S-1d-1W 095-81-90-S-1d-1W 05°Z1
- &) o b - - - o



	6_-Splice-Plates_ModTruss-1
	6_-Splice-Plates_ModTruss-2

